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1 1
i i
Q1 0.40 - 3.1
1 3.0 0.15 3.0 1.00 3.0
11 3.0 0.47 3.0 0.50
12 3.0 0.47 3.0 0.50
1 3.0 0.90 3.0 0.30
2 3.0 0.10 3.0 0.30
3 - - 3.0 0.20
4 - - 3.0 0.20
13 3.0 0.05 3.0 0.01
2 3.0 0.35 3.0 1.00 3.0
21 3.0 0.50 3.0 0.50
1 3.0 0.58 3.0 0.62
2 3.0 0.33 3.0 0.38
3 3.0 0.09
22 3.0 0.20
23 3.0 0.30
3 3.0 0.25 3.3
31 3.0 0.42
1 20 3.0 | 049
2 | -
3 3.0 0.51
32 3.0 0.24
[[1 ] + 3.0 | 100
33 3.0 0.12
34 3.0 0.22
4 3.0 0.25 3.0
41 3.0 0.57
[ 1] 3.0 | 1.00
4.2 3.0 0.37
1 3.0 0.49
2 3.0 0.02
3 3.0 0.49
43 4.0 0.05
1 |CO, 3.0 0.46
2 5.0 0.54
02 0.30 2.9
1 3.0 0.40 3.1
11 3.0 0.40
1 3.0 0.02
2 3.0 0.02
3 3.0 0.97
12 3.0 0.30
1 25 3.0 0.11
2 3.0 0.03
3 3.0 0.87
13 3.0 0.30
1 3.0 0.50
2 3.0 0.50
2 2.9 0.30 2.9
21 3.0 0.50
1 ( ) 3.0 0.80
2 3.0 0.20
22 3.0 0.30
1 3.0 0.20
2 3.0 0.20
3 3.0 0.10
4 3.0 0.10
5 3.0 0.20
6 3.0 0.20
24 2.8 0.20
1 3.0 0.20
2 3.0 0.20
3 3.0 0.20
4 3.0 0.20
5 2.0 0.20
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3 2.9 0.30 2.8 1.00 2.8

31 2.6 0.08 2.6 0.50
1 3.0 0.60 3.0 0.60
2 2.0 0.40 2.0 0.40

32 3.0 0.08 3.0 0.50

33 3.0 0.84 =
1 3.0 0.20 =
2 3.0 0.20 =
3 3.0 0.10 =
4 3.0 0.10 =
5 3.0 0.20 =
6 3.0 0.20 =

Q3 0.30 - - 2.6
1 3.0 0.30 - 3.0
2 2.0 0.40 - 2.0
3 3.0 0.30 s 3.0

31 3.0 0.50 =
3.2 3.0 0.50 s

LR1 0.40 - - 8.8
1 2.7 0.20 - 2.7
2 3.0 0.10 - 3.0
3 [BEI BEIm] : 3.9 0.50 - 3.9
4 3.0 0.20 - 3.0

3.0 0.26 =
4.1 3.0 0.50 -
4.2 3.0 0.50 -
3.0 0.74 =
4.1 3.0 0.50 -
4.2 3.0 0.50 -
|LR2 0.30 - - 3.2
1 3.0 0.20 - 3.0
11 3.0 0.40 =
12 3.0 0.60 =
1 3.0 0.70 =
2 3.0 0.30 -
2 3.1 0.60 - 3.1
21 2.0 0.11 =
22 3.0 0.22 =
23 3.0 0.22 =
24 3.0 0.22 =
25 - - -
26 + 4.0 0.22 s
3 3.7 0.20 s 3.7
31 3.0 0.30 =
32 4.0 0.70 =
1 - - -
2 ODP=0 GwWP 5.0 0.50 -
3 3.0 0.50 -

LR3 0.30 - - 3.2
1 LC ©2 91 3.3 0.33 - 3.3
2 3.1 0.33 - 3.1

21 3.0 0.25 =
22 3.0 0.50 =
23 3.5 0.25 =
1 3.0 0.25 =
2 3.0 0.25 =
3 5.0 0.25 =
4 3.0 0.25 s
3 3.2 0.33 s 3.2
31 3.0 0.40 =
1 3.0 0.33 -
2 3.0 0.33 -
3 3.0 0.33 -
32 3.0 0.40 =
1 3.0 0.70 =
2 -
3 3.0 0.30 -
33 4.4 0.20 =
1 5.0 0.70 =
2 3.0 0.30 -
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